sin(7r + o)
cos(w + )

tg(r+a)

ctg(mr+a)

sin(g—ﬂ — )

RY/4
cto(—— o
g(2 )

. 7T
sin(= + o
S )

T
CoOS(—+
(5 +o)

T
fo(—+
g(2 )

7T
cto(—+ o
g(2 )

dopmynbl NpuBeaeHUS:

. T
SIN{—— &
(5 -

T
COS(—— A
(5 -

tg(%—a)

7T
cto(—— o
g(2 )

sin(2r —a)
cos(2m — )
tg(2n —a)

ctg(2n —a)

sin(27 + Q)
cos(2m + )
tg(2r +a)

ctg(2r +a)




YNpOoCTUTh:

l)tg(%r —a)ig(mr+a)— cos(E +o)sIn(mw +a) =

2) cos(%r +o)sina +sin’ (7w + o) +tg(m + o )ctgo




DopMyInbl CNOXEHUA:

sin(ox + B) =sina cos f + cosa sin
sin(ox — B) =sina cos B —cosa sin 3
cos(ax + PB)=cosacos B —sina sin 3
cos(ax — B)=cosa cos B +sina sin 3
oo +1
o+ ) = 82 gp
l—tea - tgf
toot —tgf
-py=—-—F
1+ tea -tgf

tg (

to(a




dopmynbl ABOMHOIO yrnas:

SIn 20 = SIN & COS X,

s 2 s D
cos2a =cos’ o —sin‘a =1-2sin” o =
=2cos’a —1

2l1g0x

(g0 =

1-tg’a




OyHKUMSA

CBoucTBa:

1) ecnn x=0, 10 y=0

2) ecnu x=1, 10 y=1

3) BO3pacTaeT

4) Xpm f

5)y \/7 HenpepbiBHA
6yecrn x >1,4/x >1

[) ecnu

O<x<LO<ﬂ;<1

W x



paduk dyHKUUKN y =4/x







CpaBHUTB:

313 :4/2
i
S

¢/2009 —3/2001 . /2008 —3/1999



BbIiNnOnHNUTL O1EeUCTBUS:

V243:3/342:4/27;3/64;
Vx5 (=20 5y (x-1)?
3/250;3/64:4/243
b2x:-23/c; abi/xy




